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¢ RURNDs Wit VSR Vial Riswl €RIA A Wwiciarella R adls dovna 8. oo Gelselui
el GiewRel erladl Rl s &A ?

(A) [NF; 2t BF,] (B) [BF; »i+ NHJ] (C) [BCly >t BrCly] (D) [NH; i1 NOj]
(B) [BF; NH;]

NF; [lia 2usz 4ud o, sz BF; Axddly Busielly »isz wud 8.

BEF; il NHj adr ¢irl aqagredsly o vie spd 250 wud o,

-

BCl, Bistelly auddly siza qud 8, w2 BrCly, ‘T’ »usl 4d 6.

-

NH; [Bfsa »usr qud 6, 22 NO; auddly Busislly siare qud 8.

el gdladl i (ggausiubu wakis ld vzl [Gégaseidl s dusr Gur duar M 3. sl
dMevolloll (Geraripiic] yea A2l aar 8 2

(A) CO, (B) HI (C) H,0 (D) SO,
(C) H,0
CO, »gd eluzel volld (M) el asieug e g (0) 9.
0=C=0
u=0

-

HI, SO, »ii H,O g4l H,O-l [BHaausHisiy Hed Hedd 6, S0 5 del MRyl o Asisl
HASZIA YOH, SlFL ©.

e

H—I

Q> S
7N\ VAN
n=038D H/ \H o// \\0

H=1.84D p=162D
NO3, NO3 1al NH}, 4i (io153) 2uddl N (ciggdvel)oll Rigd 5315kl asadl sd &A ?
(A) sp, sp® v sp? (B) sp, sp® »i- sp? (C) sp?, sp ¢ sp? (D) sp?, sp3 »4 sp
B) sp, sp? 2 sp
VSEPR [Rigidl 20412 NeL 2052 s&sil usiz ssl a8 ad 9. %l bp »n Ip-ll il sl »ud 6.
NO3 = 2bp + Olp = {4 = sp s
NOj3 = 3bp + 0lp = sp? A
NHj = 4bp + Olp = sp? disa
H,0, HF 31 NH; H-ciel ot 8. a1 uerllol Gesdol [GigaMoll dnemR (1) &wlvel Giglcll uciodl

vl (2) citell 2iven Guz ek M 8. Gu ealdal iAvol BesdcilGigon @isicl ARN 5H

s ® 7
(A) HF > H,0 > NH;  (B) H,0 > HF > NH;  (C) NHy > HF > H,0 (D) NH, > H,0 > HF

B) H,0 > HF > NH,
H-oia{l Mot 4 H.....F > H..... O > H.....N

uig, HyOl £35 29, AR Hy0 220 wd H-oluell sida 8, wut 635 HE 29 Hel oflg oo HE 219, w14
ZAA 69,

o Gosasildg (H,0) > HFY Gesaslsg > NHd Gesaxlog
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PO?L‘ VR P-0 cigloll AilSAYel usiel Gurell [oipifons  dloveuR

A) +1 (B) -1 (C) -0.75 (D) + 0.75

(C) -0.75

. , , g . AR 3

§lge vl (P-0) olirdl s waug, Guz-il Radfs eur = - =-0.75

O -wmiglaival g
NO3 JiRucti Giergd¥Hell 2ivan il Asis] gAsglcl A¥all Riven Sedl & ?
A 2, 2 B) 3,1 13 (D) 4, 0
(D) 4, 0
NOj »unty elmza A Yoo o ¢
O=N—0:

0
A2l Guz oltgoul il wisial gl amadl sl
N WHIgHl Adlwsdl ddsaiqadl dvar 5 9. 2is masizdl exdld dli daiogsdl ddsgiqa-dl vl
=5+1=6.
s llEdord yHIY Bl [geid () oid 8 2 6L (0) UM, N uzHignl 2 Hésgiq e suslleidldl san

-

£,
2H 3(0) URHMLESIL Nl 8 $as2iqd 0l an 9.
ooy ogasidl dval (melleldlnl suol ddl SAsgin sl = 4

oasigl Sasgie yousdl dval (0) @,
olRcpiiell sa1 @2s) wRAGsaslA Alfilds swusr ad 8 ?
(A) BH; (B) NH; (C) CO%- (D) H,0*

(A) BH;

BH; = 4 olagadl + O 2s18lyodl = sp® dsm = wnagrsasla olififas susk
NH; = V-2us1z, CO%™ = Bisiolly asdelly »us

H,0% = [aufiia sz

ciRlell cicureil gt 6 Vid T citwil 2iven el

H H
H H
O‘ [Cifscusa
H H
BT
A) 6, 19 (B) 4, 20 (C) 5, 19 (D) 5, 20
(C) 5,19

Al Al 208 sl A yem $
L oM 5 ol M 8 (C - H) + 11{C - C)o o4 vled 5 19 ¢ ¢id Bur calddl siaRHi eiw:

-«

9.
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H H

LT
H | H

H H
ofldotpiizil s ey [ Bt WAPHA vASI ERIAA ot2il ?
(A) N3 (B) O, ©) 0% (D) B,
(C) 0%

ARl Sasgidla elmze »uld ¢

N; = ols?, 6*1s%, 6252, 6%25%, n2p2, = 1 7 o2pl Hi M5 Y[ Sasgiq o,

0, = ols?, 6*15%, 625, 6*25%, 62p2, M2p? = m2p?, me2pl, = n*2p}1,

OML & wyFud Sdsgid &,

05 = ols?, 6*1s%, 622, 6*252, o2p%, m2p2 =~ n2pi n2ps, = TE*ZPJZ)-L'L WY [FHd Sesgiq el
B, = 6152, 6*1s%, 6252, 6*2s% m2pl = nzp},

ByMi 6l 2iy[PHd $ésAiA &,

oiRlotpiell sl ViRYViRAcloll GiEL ¥ GiEl Wilel o2l ?

(A) XeF, (B) BF; (C) C,H, (D) SiF,
(C) C,H,

XeF, = 4bp + 2lp = adla a4l = o 4 dHn 8.

BF~, = 4bp + 0lp axagreasly (ohl o o4 wuq 9).

A A . . N
C,H, = C=C = C = C ¢4 (C - H) ol 208 a4+l 5l -l

H \H
SiF, = 4 bp + Olp = uwagwasly (e o ol i §.)
M, C,IT ML st % oid AmiA el

oilRlot san uerRll H-ciar Al ag ucin & ?

(A) HC1 (B) H,0 (C) HI (D) H,S
(B) H,0
He - - H

~or ~ol
H” “H _H" H

07

H H™ "H H

o her

.

HCL, HI >4 H,S H-oit ottt «toll. st H,0, H-olt oild &, H,0 (wsll)-l s »g AR H-oy
seld .

A ANS des] vAsiet ciewer 1s? 252 2p8 352 3p6 3d2 452 Aa A wwAfs cia [Cpilenti aua 4
#Asglcl 54 525\l &A ?

(A) 3pb (B) 3pb, 4s? (©) 3pb, 3d? (D) 3d?, 4s?

(D) 342, 4s?

MY HAsi-lY sarel AdlaM (Z = 22)9 8. d d edls drdldl a9 9. d dsild dw 9. ved

A d odisd dwd 9. %Ml ns @A (n-1) d s8s0 drell sit[AulaHi ool 4 @,



13.  ofowiicll san vien (angles) sp? is?emi ewdl Adl &A ?
(A) 90° (B) 120° (C) 180° (D) 109°
wdicl (B) 120°

o sp? dsaa vuddl welalHl o addly Gisislla .

slugiol = £120°.

Y
120°
X
Y Y
14. A Ridvoto] 2arRil 2a3u s YN a3 eAlara ?
A) A (B) A, (®)] A3 (D) Ay

odiel (A) A

o SAsZA sl euld 8 3 A i (ABsY a1y) & A d 10 urHg suis w1 6§,

15. siolot (C)oi 2arRll 2a3u sd 2isn a3 ealdl asw@a ?

(A) C (B) C, ©) Cq D) C,

wael (B) C,

o siofd (C)g SAsgila simra sdlliA (Ch-l FEw 2 9. %q @l @a3u gusdllRa (CL) 8. % C, adls
galdl asia.

16. B ia Cuidll cidal Ridlvollei suedla 1 sy ?
(A) BC (B) B,C (@ BC, (D) BCy

waiel (D} BC,
o SAsiHl eluRel enld B 3 B Aol st (P) @A siela (Ol sl sAllRAAL (CDL HEa s 8. ul
el i PCly 22d 5 BCy eld 95,
17. B Jiad C dA sAl USRell Giel Gicid ?
(A) 2uu-la oy (B) A% oiY (C) &1l oy (D) Al AeAALYs oy
caiel (B) AsAAITSs viy

B oA C a2l Asddlws oY onsl. oid B A C drdl staicdly e qud 9. B s1s (P) A C sl
(Chl [MEel 52 9.
18.  Nyolt uedla szis RiarHi ealda Alsddazel RN s34 sA B ?

(A) (n2p) < (02p,) < (m*2p,) = (n*Zpy) (B) (n2p,) > (o2p,) > (m"2p,) = (n*2py)
(C) (m2p,) < (62p,) < (m*2p,) = (n*Zpy) (D) (n2p,) > (62p,) < (m"2p,) = (n*Zpy)

wael (A) (n2p) < (02p) < (r*2p,) = (n*Zpy)
o N, W2 Al Aedl syl olsdar sasi-l otlsasll A yye © -

Gls < 015 < 025 < 025 < (W2p,, = any) < olp, < (M"2p, =~ n*2py) < (6"2p,)
19. wuedla sa2is Ridr yvor ¢l ealda sai ([Qeuc wrRi ol ?

(A) Be, 2l 2dadly-t el

(B) He, 2l el uig Hedrll 2ARdcarll cua-l ag .

(C) ol 2uadui Nyl oftuoradr ass-dl Gusiedla zigiul Alel aud &,

(D) N, 1l suedld sasl alssll s3 IA Yoot © :62s < 6°2s < 62p, < (W2p, = n2p,) <(n2p, = 2p
< G*sz

Y

waet (D) N, 24t 2iedla stisu alsad sy A Yy 8 : 025 < 0'2s < 62p, < ("2p, = n2p,) (n'2p, = n*2py]



I3

iy

1l

20.

dicl

il

I3

< ao'2p,
Myl 2R, oltndl WS 2 sgedla sasiql ulsasy adlz seedla sas Bidiza »na? wuenedl asi 6.

(i) g oitsiis HUAdL 20 521 »lRacd quadl 44l uig gyt R qed vuadl el sidl »ilkaa
yud 9 wadl 2Akdcdl AenaAl wud 9.

(ii) elusuisd Hed @M G dx ol uandl ua auz €y 9.

sfrluler el 2l sesil [AHloml eust ddl 9asgiv (N slusizs $asgin (BMO) sedid © 2

ABMO oitnfasizs sasiul Haldl Sds2idq old wasiy Sasgid sddld 9. oAl dsidd-dl 138l ML slusHis

ERETUIN N

(A) Be, (4 + 4 = 8)= ols?, 6"15%, 615%, o"25%

N 1
oisHls (BO) = 5

(ciafanfanl auudl $dsgid dvan (Ny)

ABMO oiaulisizs desgia-dl v (N

oitsHis (BO) = — = t]

w0l Beyrdl oifsMis gri ©. 2l d QA qradl el

B) He, (2 + 2 = 4) = 6152, 6"1¢
. 2-2
b‘l%"[lf} = T = 0

w o Beodl olasuis g . 2l d wildc wuadl Al
He} (2 + 2 — 1 = 3) = ols?, ¢*1s!

sis = — = 2o g5
Su5HLs = 5 =5 U

w3 oltsHistd yed g el el d AR wudl uy o,
(C) N, (7 + 7 = 14) = ols?, ¢'15%, 0625%, 6252, n2p? = n2p?, o 2p2

SIS (N,) iy Blody wud 6. ofla 2iadHl st we dalledl [Geid sl Glal ofb 4riadl el suell
5dld Buasedly Ayl (Far 3 N,)ul ol uenan 2ol o and 8. (e 8.) % ol suad-L drelsi
U yd §.

(D) 21 W el N, w9l vuedla sesdl alsaddl el s3 (N, 20y 4e) <02 yoor eulda o
025 < 6"2s < (W2p, =M2p,) < O2p, < W2p, = W'2p, < c2p,

cRlcpiell sa1 [Ascll ARl ciasHisel big 52 & ?

(A) O; > 0, > 0% (B) 0; < 0, < 0% ©) 03 > 0, < O3 (D) 03 < 0, > 0%

(B) 0; <0, < 03

0,1 désgi-lly oluire (16 dasgiv) = ols?, 6'15%, 6252, 6252, o2p2, m2p? = n2p§, npl = n*Zp;,

Lo 1 1
ougiis = = (N - Np) = 5 (10 - 6) = 2

O34 dasgidly sluze (15 dasgii) = ols?, 6'1s%, 6252, 67252, 62p2, n2p2 =~ nzpf,, 2pl, = n*ng
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21.

o1 1 5
dugiis = 5 (N, —Np) = 5 (10 -5)= 3 =23

037 désgi-la siura (17 dasgin) = ols? 6'1s%, 025% 6"25%, o2p%, n2p} = n2p3, W2ps, = m2p,

. , 1 1 3
HEEHLS = Z(Nb_Na]: 2{1077): 5 = 1.5

wiefl, siusuisdl s4 03 < 0, < 03

uedM [Agasseldl eRiddl dedoll GlEIB S3llell BASZIole] oiarel ofldepiizll s & ?
A) 2s%2p° (B) 35s23p° (C) 4s%4p® (D) 5s%5p°

aist (A) 2s22p°

Il

22.

Hetid [Agdmeidlay] dw

252 2p° = gelllRA

3523p° = sdll3A

452 4p° = sl

5525p° = 203

ofldeti 32dis dwdlef vAsiolla ciarer NG 8. s dwadll ViRicllser Vicenall HeuH A ?

(A) [Ne] 3s23p! (B) [Ne] 3s%3p3 (C) [Ne] 3s23p? (D) [Ar] 3d'04s%4p3

caiel (B) [Ne] 3s3p3

111y

iy

~ o

(B) a1 (C) [asedl w4 »HYsl 3p sasi wud 9.

(B) B szl [MZa 53 & 2 (C) »ud[As (As)dl €2 s2 &, uig (B)d, st (d) s2di -, . 2ed iy
sdl usia 3 ()l »uaddlsan »i-euadld yed ueny 8. »uddHi LHSHL RHS ds adi »ia-lsya si-uedld

Heu qf 9 vladul YRHIgd st M 2 dd suasdlsua sl qey ail §.



